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log(dY/Y)= log[1,5(Y,/36)] - (1/1,5) log{/Y,)
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log (Y/AY)
C,=(Y/AY)
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Yoc=Yw - nc=100,

I* CiELABua =37 (YY) Y1313 (Y18, Y,/ 100Y<=Y,o)

log(Y/dY)= — log[1,5(/,/36)] + (1/1,5) log{/Y,)

== (1/1,5) log[1,5(,/36)] + (1/1,5)‘|Og(/)
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i/l CIELABUA relative standard lightness I*/I* ,
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I CiELABua =37 (YY) 1313 (Y,=18, Y,/ 100Y<=Y,0)
1 (3,6)=26,1* ,(18)=50 I* 1y (90)=121

Yn=3.6  Yyw=90

log (A YIAY,)
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CIELABUA4 relative

tristimulus value difference

Yoc=Yw - nc=100,

I CiELABUA =37 (YY) Y1313 (Y,=18, Y,/ 100Y<=Y,0)
log(dY/dY,) = [1~(1/1,5)] loglf/Y,)

* =50, dY,=4,05 dY,/Y,=0,2253 _ = Av
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log[(dY/V)/(dY/Y),] = - (1/1,5) log¥/Y,,)
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logI(Y/dY)/(Y/dY),] = (1/1,5) loglY/Y,)
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